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10.

11.

12

13,
14.

15.

-16.

PART B — (5 X 10 = 50 marks)

Answer any FIVE nﬂ.mmﬂog.
What is MBO? State its principles and process.
me&u the mﬁﬁoﬁObm of management.

wu.mmm_w trace. the different approaches and models

of OB.

Describe E some mmﬂmn the mm&oﬂ.EEmwwm of you

own wmamosmr&r m::um spectfic mmemem
Explain the process of stress managément.

Explain various elements of OD.

Sr% is Euﬁma ooEE;Eomﬁos bmommmmuw and how

can we improve it?

Explain  the o.oso.mm.w - of ..msﬁﬂmvﬂoﬂmciﬂ

management”.

g MBAC 1001
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~on the softball field. When the baby came,
however, Larry’s brow began to furrow a bit. He-

was only 20 years old, and he still wasn’t making
much money. He asked ?HH_ Loude for a raise and
got it—his first. .

\

Two months later, one of the crew chiefs quit just

when Mr. Loude’s crews had more work than they
could handle. Mr. Loude hated to turn down work,

so he made Larry Field a crew chief, giving his
.crew some of the old instruments that werent

good enough for the precision work of the top

crews, and assigned him the easy title surveys in -

town. Because it meant a jump in salary, Larry

. had no choice but to accept the crew chief position.

But it scared him. He had never been very
ambitious or curious, so he’'d paid little attention
to the training of his former créw chief. He knew
how to run the instruments — the basics, anyway —
but every. morning he woke up terrified that he
would be sent on a job he ooﬁEﬁ t rmb&m

During his first few Bobﬂvm as a crew chief, Larry

began moEm things that his wife thought he had
outgrown. He frequently talked so fast that he
would stumble over his own words, stammer, turn
red in the face, and have to start all over again.
He began smoking, too, something he had not

" done since they had started dating. He told his
two crew Emgvmum that smoking Wowa his hands

- .4 E

,

from shaking when he was working. on an

instrument. Zm#rmu of them smoked, and when
Larry began lighting up in the truck while they
were waiting for the rain. to stop,  they would
become resentful and complain that he had no
ﬁmwﬁ to ruin ﬁsz. lungs too. -

Larry moEE it vmw.ﬁoﬁmuq hard to m&cmw to being

. “boss,” -especially since one of his workers was
getting an engineering degree at night school and

both crew members were the same age as he. He
felt sure that Alfonso Reyes, the scholar, would
take over his position in no time. He kept feeling
that Alfonso was looking over his shoulder and
began snapping any time they worked close
together. .

Things were getting tense at home, too. Alice had
to give up her full-time day job to take care of the-
baby, so she had started - working nights. ,E.Hmw
hardly ‘ever saw éach other, and it seemed as

though her only topic of conversation was how
- they should move to California or Alaska, where

she had heard that SULVEyors were vm& five EEmm

what Larry made. Larry knew his wife was

dissatisfied with ‘her work and believed her.
intelligence was being wasted, but he didn’t know
what he could do about it. He was disconcerted

5 . MBAC1I001
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10.
et
12,
13.
14.

15.

16.

-Bring ont the difficulties involved in Emmmﬁﬁzm

National HwnoBm

Discuss the pros and cons of Indias huge

population. - . :
PART B — (5 X 10 = 50 marks)
Answer any FIVE questions.

Huﬁ_mg the different objectives of a firm.

Nlustrate the implications of elasticity of %Emsm
in business decision-making.

Explain the Bﬁ.ow issues confronting a manager
and how managerial economics can come to his
rescue in tackling these issues.

Explain the determinants of cost.

What do you mean by price discrimination?

Explain the objectives of price discrimination. .

Explain the law of diminishing returns to scale |

with examples and suitable diagram.

‘Explain the different types of monopolies.

anmmb the different types of risks and

uncertainties.and how they can be Bmummmm

2 MBAC 1002

Hq..

PART C — (20 marks)

Compulsory.

Cast study :

India had the distinction of being the world’s
largest economy in the beginning of Christian era,
accounting for about 32.9% share of world GDP
and about 17% of the world population. However,

India’s share in foreign trade hovered around the

one percent mark during most part of 20t» century
while the current share is 2.7%. FDI averaged
only around $200 Million annually during
1985-91. Balance of payments have largely been
negative during this period and FDI accounted for
merely 0.1% of GDP while it rose to 2% during the
2]1%t century. Indian ‘exports could cover only
66.2% of imports as on 1990-91. India’s balance of
payments has taken a positive turn since 1996. .
FDI in Indid has reached 2% of GDP, compared

with 0.1% in 1990. India’s remittances during V

1991 stood at $0.1 billion while it reached

$25.7 billion.

Attempt an analytical explanation of the above
facts and figures  highlighting 'the benefits
accruing to India due to the LPG policy
implemented during 1991. Also, provide your
arguments against LPG policy by highlighting the
negative points associated with the policy.

3 MBAC 1002



049 | euysLsy] woyy spood yyBnog ¥

000°0T LM SSOUTSN] B PayIR)s nqeld T Arenuep
£ * A
unouy " SuoIoBSUBL], SR \-1g |

‘SUOTJ0VSURT} SUTMO[O] 23 osI[BUINOL  'f

LYUSUIalels MOTJ [SEY
PUE MO[ PUNJ Usom)oq SOOUSISQIP aY) axe JeyM - '§
| worjeroeadep

Jo uonyendwmos Jo mﬁoﬁmﬂ SNOLIRA PUB S8A1)09{q0

s ojelg guorjemaxdep Aq gJueemr ST JEBYM  °F
j3urdeay -

jJooq JO TWeISAs ».HE@ oBzo@ Jo sedejueape

oy} 1B Jeyp /Aoueiuncody Lq jueam ST JeUM T

.mﬂoﬂmusu ALI £ue Temsuy

(sxprew 0g = 9 x §) -V LIVd

syaBuL OOT i WNWIXE SN0y 99X, s oLy,

SHEHYNVIX HOd HNIINODOV — III oded
QHEM T81518) SUBONIR/[EIUSY)
.I9)sowag ISIr g
"LT0% ANNL ‘NOILVNINVXH HEYDHEA V'EN

T00T O’ TdIN/E00T DVAIN

1001 DTHIN
/00T DVAIIN .8

“(suoseax Ym jroddns prnoys
sIomsuy) “jonpoad ay3 I0] puBwWap MOT (1)
pue jonpoad oyj 10f puewap syl (D)
: J0 woTyTpuod ux syyoad Fe3esid
wige 01 bmuﬁ §T Auedwod YoM ajelg

"000°01°'sY

. Jo qgoxd e oyew |[im serBdwod om} oY}
JO UOeD UDFYM 38 SWNJOA Se[es 9yj ae[na[e)) -

Aueduwroo
aomo ..Sm sputod UsAe -yealq Y g1e[naren)

®

@
(9

101 wmhﬁdmn aJe no V

000'08 . 000°0€

- goxg
000°0L'3 000°0L 000°0L 00008 1800 PaxIg
000'00°g 000°0%°2 ..Eou I[qELIEA
. e , | . -1 §89]
1000°00°€ 000°00° sefes
bumnﬁoo nygpuey - Awedwroy) weliN
' :19puUn §e

oxe sTelep s dueduaod mmmﬁﬂ_ unmﬁowmmmﬁ owres’
ay) Iepun Auedwo) nypusp pue Auedwod weliN LT

Lrdsaduro)

(s3prew 03 = 0Z X 1) — D LAVd



Date - Transactions Amount
: . . Rs.
7 ..Ommr.uﬁormmm . | 3,000
10 Cash sales : 4,000
H_m Bought goods from Krishna 2,000
16 . Sold goods to Magila 5,000
18  Paid cash to Krishna 2,850
19 Sold goods to Magila - moo.
24 Paid Krishna on account 2,400
26 Received cash from E.mmﬂm D 1,650
27 Paid salaries . - 1,250

30 Received cash from Magila , 200

A machine purchase on 1%t July 2005 at a cost of
Rs.14,000 and Rs.1,000 was spent on its
installation. The depreciation is charged at 10%
on the straight line method. The books are closed
on 31% December every year. The machine was
sold for Rs.9,500 on 31st zmuor 2008. Show the
Machinery account.

9 . MBAC 1003/
MBLC 1001

15,

" 16.

From the following information of .H_mm Emm.mm
Corporation Ltd., you are required to msn out Hu\<
ratio, BEP and Margin of safety. .

Sales in units 15,000
' Fixed expenses Rs. 34,000
Sales value Rs. 1,50,00

Variable costs  Rs. 6 per unit

Also calculate the revised P/V ratio, BEP and
gmwmwb of safety in each of _&m mozoﬁczm each of
the case.

(a) wmoummmm.o.w 10% mmEbm price,

() Increase of 10% <&m¢? cost

(c) Increase of sales volume by 2,000 zdz_.m.
@) Hbﬂ..mm..mw of Rs. 6,000 in.fixed cost.

Calculate labour cost variance, labour rate
variance and labour efficiency variance.

Standard time 3,900 hours |
Actual time taken 4,025 hours
Standard wages. Rs. 7,800
Actual wages paid . Rs. m_omm
7 MBAC 1003/

MBLC 1001 .
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Rs. " Debit Rs. Credit  Rs.

" Factory expenses - : . 2,750 . Drawings . 7,000 Sundry
. Selling expenses : : © 2450 | Purchases : 4,000 creditors 9,000
Office expenses . 1,850 o Wages 2,000 : -
Sales o o 78000 . Stock (on 1.4.14) 12,000
. m.w.-m ofscrap - B g 250 w_smnmzmm : | - 20,000
PART B — (5 X 10 = 50 marks) T Sundry debtors 8,800
Answer any FIVE questions. . = Bills receivable i 5,800
. _ . . Rent = .
9.. Explain various ‘accounting concepts and o 900
conventions: o . ; . Commission 500
10. Explain the merits and de-merits of ratio analysis. . General expenses 1,600
'11. Explain the merits and de-merits of Marginal m,E..EEH.m E -
costing. . : . . Total 81,000 . . . 81,000
12. From the following Trial balance of Mr. Sevugan, Adjustments :
: prepare Trading, Profit and Loss account for the ; ' (a) Closing stock Rs.8,000

year ended. 315t March, 201 5 and balance sheet
" as on that date.

T —

(b) Wages outstanding wm.w.oo.

UOUW& . . H«.m. OH.QQ.W# Hﬂm.. . , ' . AOV . wmsﬁﬁﬁmﬁmw@ WW.NOO .
Cash at bank . 3,400 Capital 40,000 L ()~ Depreciate Furniture and Buildings by 10%.
Cash in hand 14,000 Sales : 32,000 . .
4 - MBAC 1003/ : . 5 MBAC 1003/

MBLC 1001 | . o MBLC 1001
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" main rivals became more egually balanced.- aftex
Morrison’s takeover of Safeway in 2003:. The
UK. markét also contains -a' number of smaller

supermarket ~ chains, . including - continental

" BEuropean discounters such as Aldi; Netto and -

Lidl. Opportunities for further mxﬁmwaos in the

UK market are now limited to.some extent by

_ ooﬁﬁmﬁﬁon policy rules and planning.restrictions.

.Homoo has pursued a mﬁ.mwm,m% om rapid growth in

the UK for a number of years, E&H considerable

success. Hﬁm recent mﬁoég strategy “has EoEmmm
organic growth through the opening “of new mwowmm,
a miove inta smaller convenience stores, increasing .

"emphasis on non- food sales such as clothing and

electronic goods, the development of personal

finance’ and- ﬁmHmnoEEsEomﬂos services and the

Jlaunch of its internet wzmgmmm From nm origins as

a discounter, eo:moo has moved up market in terms
_,om its  product and service @Smﬁ&r. though it
retains a wide customer base through its low-price

policy.-

4 . MBAC 1004

Like many UK retailers, Tesco was relatively slow
to” go international. Despite the company’s long
history, it was only in the 1990s that Tesco started
to venture abroad, initially to . Ireland and-
continental Europe, then to Asia and more
recently to the United States. One of the

" company’s early international ventures was 'its

acquisition of the northern French chain, Om_.ammd
but Tesco soon pulled out of France after facing
stiff competition in the mature French market. Its
main European operations outside the UK are
now in'Ireland and four of the Central European
countries, the Czech Republic, Poland, Hungary,

- and Slovakia. Tesco also has stores in China,

Japan, Malaysia, South Korea, Thailand, and .
Turkey. Its international expansion hds often
involved the acquisition of an existing retail chain,

followed by the opening of new stores. The

company’s expansion to the United States has
been more cautious. The experience of other

- UK retailers, such as Marks and Spencer and

Dixons, may have discouraged Tesco from early
US market entry. Despite the familiar language
and culture, the US market is highly competitive
and US' customers are very demanding. Tesco

extended its internet business.to United States in -

2001 and opened its- first ‘Fresh and Easy -
convenience stores there in 2007. Although it is
now clearly a’ multinational business, over
70 percent of the company’s sales still came from
its UK operation in 2008.

5 MBAC 1004
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PART B — (5 x 10 = 50 marks)

" Answer any FIVE '‘questions out of the following.

10.
11.
12.
18,
14.
15,

16.

What are the steps involved in ﬂpm mou.Eonﬁ of
Hmmmmnow ﬁuovaE¢

List out the mm<mﬁ$mmm and, mummm<msﬁmmmm cm .
. closed ended nzmmsobm

Enumerate the. ﬁuovmiumm of uS.Em_ md& binomial

&m_..ﬁwsﬁob
Explain the steps involved in case study research.

Distinguish between Type I and Type II errors

with possible examples.

What is Chi-Square test? Explain.-its mwmbwmomwmm
in statistical analysis.

What do you mean ww.gzﬁ.?mi.mam analysis? How
does it differ from Bivariate m:&wmwm.v

A mmEEm of two 42.528 of size 40 produces a

correlation coefficient of r = = 0.682.

(a) What is the point estimate for the bovc._m_uob
. correlation coefficient, p?

() Construct a 95% confidence interval for 0.

2 MBAC 1005/
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17.

@

®)

PART C — (1 x 20 = 20 marks)

-

(Compulsory)

What .does a measure of central tendency
indicate? Describe the important measures
of central tendency pointing out the situation
when one measure is considered relatively
appropriate in comparison to others?

The following sample data of the number of
communications are taken from logs of
Communication with Upmﬁmﬂom Education
students:

5,9, 5, 28, 27, 55, 34, 7, 30, 16, 22, 60, 14; 52,
297, 8, 51, 15, 51, 35, 15, 39, 137, 43, 38, 14,
93, 7

@ Compute the mean -
() Compute the standard deviation.

(iii) Which is a better representation of the
© central tendency: mean or median?
Explain.

P
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MBAC 1004

H<H B.A. DEGREE EMEHZ>HHOZ JUNE 2017.

m,m.mﬁ Semester
o - General .
wdemem mZﬂWOZHSmZe AND LAW
Time : H.E.,oo Wozwm Maximum : woo Ems..wm
PART A — (5 .6 = 80 marks).
>bm€mn any FIVE out of Spm mozos.Em
1. .Define Business mﬁm state its nature.
2.  Explain gm theory of UmEomumen.mebm.&ob.

3. _wmeEm the growth and' future vmumwmoﬂé Om
. Hb&mb industries.

4, “Every contract is an mmummﬁmb_.. dsﬁ mﬁwg .
. agreement is not a contract”. Do you agree é:.& .
ﬁzm statement? - .

5. Listout &m.mwmsﬂ kinds of company.

6. What is Articles Om bmmoﬁmﬁoho ﬁﬁmn are its-
" contents? -



